
warm up

Find the zeros of x2- 4×-5
.

= (x -5) (X -11 ) ⇒ X=5, - I are the zeros

Polynomial Inequalities

solve ×2
-4×-5>0×2⇒ looks like V -

-i s

where is x2-4×-5 > O

C - oo, - D Ucs, -0)

Exe

10×2+3×-5 EX

-13×2+2×-5E

3×2+2×-8EO
fix)# 1- 4) (X - 2) EO ↳ + 4) C- s -2) =L- 1) C- 73=7

Break up intervals by zeros ( o + 4)( o -2) =L 4) C- 2) = -8

Intervals to,-4) C-4,2) (2
, ( 4 t 4)(4-2) =(8) (23=16

tea ffs)= 7 fco) = -8 f(47=16

+ - t

The solution set is [-4/2]

② Solve X
?
> X

←2) C-2 - DC-2+1) =L- 2) C-3) C-D= -

6×3
-X > O c - Lak-I-1) C- Iti)=C- E)C- E) (I)= I

X(×2- l) > O CISC 's - DC 's + D=# C- IKE)= - I

(2) ( 2 - 1) (2+1)=12) ( 1) ( 3) = 6
fix> = X ( X - 1) (xtl) > 0

Intervals too, - l ) C- 1,0 ) (O, I ) ( 1,00)

test FC-2) = - G fl- 3) =3 fl 's)= - Zoo f- (2)=G
- t - t

The solution set is C-to)VG, -0)



Rational Inequalities

③ solve 3¥ <0

Find zeros and points where its not defined

These are called critical values .

Undefined at x= - 6

Zero at x=o fc-8) = 3gt = 7242=12
310) O

⇒ = -6=0

Break up interval using
ft- 2) = = = - Zz

the critical values fC3)= =# =/

lnterval(-•,-6)fGo)Cc
Test

value FC- 8)= 12 ft2)= -Zz fC3)= I

+ - t

Solution set is C- 6, O) .

④ solve ZI DO NOT

cross multiply ! ! !
Xt2
Tx

- l Zo

ffD= = -I
¥2 - > O
2x 2X -

f- (1) =22%-1=21×+2-2×-7O
f =

2 - (3)
-
L

2x -

=
6

2-x
-2×20 lntervalc-QOJCO.dk#

Undefined at X=0 III ft -1)= -Z fl 1)=L fcz>= - I
- t -

Zero at X=2

Solution set : (0,2]


